Flexural S yskms
“ Be-ams anc‘ F rames -

When a beam or 'Fram.e is Subd'e,c{—eg’ te transverse
[oac)ian, the three possible in fernal é.rCe,s +hat are
ACVclOF&I are *the permal or axia | Fﬂf‘Ce., the gll,ear:'nj '@rfe,

and The bend:'rlj mement, as shown i/n sechon a-a of

the Gnhlever beanm.
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A Preoh‘c,{- +he be havier of s-}-ruc—-l'ure;, +he magni-‘uoLs
of +hese Lorces must be Known.
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Relwﬁan }-}mdi\j st'}'r;bul-eJ ‘OO-G!J Sheﬁrl‘vtj ﬁ;rc’e_,
ond b&nc)t‘v moment

Consider the simply S“PP‘”‘"‘QCI beam(AB) which is subjecled Lo }he lea“.J Wey
LUCx)

———— X

8

let +he shear ié’fCe and benJ:'r}j mement o a sechion localed

at o dis J'OmCe_ of

resg ec']'\' [
P ve,j_, ach m} A sechon x~!-J.:t be V~+-olV omcj

M"'c!M_, rcg_Pcc:I-fVelj- The +o tad {é’a.a}
of +he fnﬁ'ﬁf'itﬁfmal uns"-h Is chx.
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( Tﬂt?f %M +d M *Apply pesitive

v
Apply +he 9 i libriam qunhions.
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Examf) le : Shf‘g‘FDﬁffCe and [Egﬁér;”c}):‘:w mement Mgﬁm

Beam AF fas  a fixed suppert of A, inlernal Winges
B "
of Y\a] Dj rol(e S ovf « anr\(J 'E, Gﬂ’\c; (‘,r'ac e.'ncJ F,

I+ is subjected 1, the trans verse S
Determine +he reac hong

sheown.
and ch‘awu SFD g BmD .

o kn
A 8 % b E =
k¥ 4 b 2 r +
2m 2m = [m " 2m = Lhis b
Solution

The beam |'s Shh'Ca“J deler minafe because Fhe num be,
of UnKnewn reachons — pum ber of e?u»«'h'br-'um e7ua/(1‘ang

No. of reachons = q
No.  of eﬁmflbm = ﬁ
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Write +he E?M\JHO“S of shear ferCe, and benoh'ﬁ momen}

%Par-'}' ABC ¢ oKX X, §5m
3eNlm Wy s F) =0 +H5625—3X,~V| =o
RES==1h T
J/ l‘n?*SGZS#BX‘
7'6625?.».: I G"Z m@:—_-o: +M, 4 3x, ("%) + 91875
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& °t + My =l6.2125 (x,) + 3(5) (_x;._—+5)+918-75
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